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QUESTION 1

The mesh-sdp binding for a VPLS configured on Node 1 is down with an error serviceMTUMismatch. One sap is
configured in the VPLS and it is up with default mtu 1514. The LDP binding display on Node 1 shows that there is a
mismatch on the MTU value. What are the required configurations on Node 1 to bring the VPLS up?

Node

configraesrvice>
wpla 200
gap 1/./5 create
exit
apoke-sdp 43:200 creaste
exit
no shutdown

# shov router ldp bindings

Type VCId Sweld 3DPId Peer InglLbl EgrlLhl LMTO RAETU

A. Set the sap port mtu to 9176
B. Set the service-mtu to 9176
C. Set the service-mtu to 9190
D. Set the sap port mtu to 9190
E. Set the service-mtu to 1514

Correct Answer: CD

QUESTION 2

Node 1 and Node 2 are directly connected running LDP. The system ip address of Node 2 is 10.10.10.1.2. Based on the
following display, why is the sdp down?
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MNode 1
show zervice sdp 40 detail
Sdp Id 40 0 —(10.10.L1.&)
SDP Ic 40
Acmin Fath MTUO ] Jper Fath MTU ]
Far Erd i0.10.1.2 Delivery LDP
Admin State Up Jper State Daown
Signaling TLDF VLAN VC Etype Ox3100
oot . Pol Ione Tollect Ztats Dizsbhlaed
Last Ztatus Change 12/18/2006 16:29:39 bdw. MNTU Crrer. Mo
Last Fomt Chandgs 12/15/2006 14:49:51
Flags TransportTunnlbown
Eeepilive Information
Admin State : Disakled Jper State : Disabled
Hello Time Hi B Hello M=g Len i |
Hello Timsout ek Dnratched Replies @ 0O
Max Drop Count o Hold Down Time - 10
Tx Hello HMags Foie | FEx Hello M=gs ol
LDP Zes=sions
Pesr ILDP Id Ady Type ZState HNesg Zent Meesg Beow Up Time
i0.10.1.2:0 Targeted Established 31285 116633 3cd D04:25:55

A. Local SDP id does not match with the remote sdp id.
B. Far End IP address is not reachable.

C. Keepalive has to be enable on the SDP.

D. LDP is not enable on the remote node\\'s interface.

E. Targeted LDP session is disabled on the remote node.

Correct Answer: A

QUESTION 3

A LSP is configured with one primary path and one secondary path as below. What configuration is required to make
the LSP non-revertive. Choose the best answer.
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configrrouter>mpls>
path "toRouteri-loose"
no shutdown
path "toRouteri-backup™
hop 1 10.10.1.2 loose
no shutdown
lsp toRoucerd
to 10.10.1.3
cspt
primary "toRouter3-loose™
bandwidth 600
secondary "toRouteri-backup™
standby
bandyidth 600
no shutdown

A. Turn off CSPF and remove all the bandwidth reservations

B. Remove the primary path and configure both paths as secondary
C. Under asp toRouter3? configure on-revertive

D. It is not possible to configure the LSP as non-revertive

E. MPLS fast re-route has to be enabled to make it non-revertive

Correct Answer: B

QUESTION 4

Which command can be used to view all interfaces configured under VPRN 3007
A. Show router interfaces

B. Show router interface vprn 300

C. Show router 300 interfaces

D. Show service vprn 300 interfaces

E. Show service id 300 interfaces

Correct Answer: C

QUESTION 5

Based on the following MP-BGP update packet, what is the export route-target of peer 10.10.1.4 on Node 1?
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Node 1

1 2007/04/268 10:2E€:47.24 UTC M_NOR: DEBUG #2001 — Peer 1: 10.10.1.4
QA =3 = i IS 1 e ) B e M 0 B 8
FPeer 1: 10.10.1.4 - EREeceiwved EGF UPDATE:
Withdrawn Lencth = 0
Total Path Attr Length = 77
Flaec: 0x40 Tyge: 1 Len: 1 Origin: O
Flec: 0x40 Tvre: Z Len: 0 i3 Fath:
Flag: 0Ox40 Tyre: 5 Len: 4 Local Preference: 100
Flag: OxcO Tyre: 16 Len: 8 Extended Conwunitw:
target:10C: 101
Flag: 0x20 Tyre: 14 Len: 48 Multiprotocol Reachable NLERI:
bddress Femily VPN-IPV4
NextHop len 12 MNextHop 10.10.1.4
40.1.1.1/32 ED 200:201 Lakel 131067
30.1.2.0/24 RD 200:201 Lakel 131047

2 2007/04/28 10:2E:52.34 UTC MINOR: DEBUG #2001 - Peer 1: 10.10.1.4
"Peer 1: 10.10.1.4: UPDATE
Peer 1: 10.10.1.4 - Zend EGFP UPDATE:
Mithdrawn Lencth = 0O
Total Path Attr Length = 69
Flag: 0O=x40 Tyre: 1 Len: 1 Origin: O
Flag: 0x40 Tyre: 2 Len: 0O A5 Path:
Flag: 0x40 Tyre: 5 Len: 4 Local Preference: 100
Flacg: Oxcl Tyre: 16 Len: 16 Extended Community:
target:10C: 100
target:z0C: 200
Flag: 0x90 Tyre: 14 Len: 32 Multiprotocol Eeachsble NLRI:
bddress Femily VPN-IPV4
NextHop len 12 NextHop 10.10.1.3
30.1.1.0/24 RD 200:101 Label 131067

A. 100:100
B. 100:100 and 200:200
C. 200:200
D. 100:101
E. 200:101

Correct Answer: B
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